Aﬂow-cu‘cc\: E3 - 2223

A3 2 AR Zin-N T

Pemg @

lexver du :?(0133 Uou —ﬁ(t):\ml,

Bi. Rqgov £ YY- poverwevn e o<y = f)y=3>Wm2=%(0
N f T vom —X'\N\S\o‘ (_{aaivougq“

82 8\9663\.‘ :ﬁ Yv. (‘635\/0050\ " Q\”'(w(‘,’ :ﬁ (qlhaJ {:f( In o) U;'\wa
dl"\d )/ ]y\q <=) lhd' (q~|jéol H Gké(M lsk\.\J&J y«a'u'
av Q<) = ha<d v fTice [ euends fu-1) lha >0
W N 2] = lhq’ 20 wew d-120 | CUVE ALy (o)~\) (na > O.
x =1 ‘ X =
B3 £ (7% thx)=In2s f(y = € %lax=l,

P .
'Eoren 9(x)=¢e ,j+lh;§-l . x€ (040, Eiva 3(U:D Wax

3.,7 ()(‘ <X1 S0, o 8) j(k') (j()(7}) ) 6UUCI\(:~\ h x =| %ou«f(uv':.

BU. Enedn g0 £(y +3-142-3 20 ua 9p)=3-3=0 =
§) b gva A-1, ¥

OQema 1,

Bivew 2709 280 =3-2 = £20g 28 0g 4= hox® <
(B-0) 4ot =y Ry - d=JGoer. Wy

A\, J(X) E(X/——L} 18x0 & by 5(‘2}:§(2)=0 €UVEn )
2()(/-#0 v x€(=2,2) wa 909 suvirn,  dpa " g, Savaae
y\ebsuro v € j(o;:::{ Sr\), ‘9()0.&0,
2. Agor g0 = £(-1= Vase =) = irJaoe,
\ r—’%'—
Evas XL),O =) (-—)Yléo =) A\—X’L€4 =) 1extga ﬁ()()f?

woun 4-x2 20 = *@\’cva\ Swa \e\K)GLL3J fny n f £vre
Qoxicro 14 X=T 22 uvew PEYl6w g«q x= O
A Vas , 9 \N.‘m

rs, AL '-?(7(,—_60‘4’( z:a:gr__‘qrgwwldgz: =2 a(q-\.‘ 6""”<§1 ww
:t\x[Zl WO <0 . poul Nt & Y!o\ x~ L 2 I‘x Tw v C(x)

£V YA x~ O Yra O sUV X



hepoc P spuinm 0 Xe=2  , f(2)= |y [N X227 ¢ x- l]'—‘- L
x=>2L »x-2
-3 -2
e P = o IRy s s

2, Y AR? =%
hax £
(X}:{ (
NpX-2) px-1  X$2

X -2
Y- \i'm E(n;: -0 7\'I~\€M’} =t d Kpa W O€ €Cur Tpuv ;“L
e o X =14 O

t)no‘\fxe. xo € R Loz f(z\mto

>

P \ .
83, Poary= ‘L‘.ti’_:S + (x+w- (= ‘3_%?-(1—/(244,(-}3 Ghvends s

: k m—-;——-”’e%—xl-i-‘«x—*? X —(—K+‘4+‘—? '

’ oo
X=>49 X+ 66Uy x

x=+® sy [0 g uvaA
x (i 22

Y ez Ny ¢ A = L ¢ hex L Y o l,’w, 1 -9

~N

X+ xt oxt %S x2 ){—)400.)(?'



